chg 9] BaAAPEE ABCD o4
AB = 6cm , BC = 10em , /BCD =
120° & wj, AC o] Zo]=?

O V67 @ V71
® 219 @ /86
® V95



1= =
= 70 o
o}}; e A
. Z]'-;
3 AB
CD
_q] 1=
o]
A

3
3
@ \/g
\/_
3
\/_
3



SHi ABE Aolo] £ A7 A, B o] Aeisk gl A%
Aolo] A2l g obuely ok I3} go] st T A%

A, B Afe]e] A= E Fsteizt,

D 20V21m @ 20v23m ® 21V21m
@ 21v23m ® 22v21m



o 2T 2ol 6km Bold F A B, C oM A Al A=
v 7] Seth & 2= 7F 242} 60°, 45° 4 o, B 7] 7HA] 9] =0

AH & stojeh
B c

@ 9- V2 (km) @ 9-2+2(km) ® 9- V3 (km)
@ 9-2vV3(km) ® 9-3+3 (km)



5.

& 19 9] oABCD ¢ Hole?

D 9+ V2 @ 10+ V2
@ 142 ® 15V3

? 122



the Z13 3% 22 0ABCD 9] HolE + D
stef=t.




